4

THIS DRAWING 1S UNPUBLISHED. ‘ RELEASED FOR PUBLICATION

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

M5 SCREW, RECOMMENDED
TIGHTENING TORQUE 2.0Nm
M5#4 ##aEHE2 . ONm

4X M3 SCREW,RECOMMENDED
TIGHTENING TORQUE 0.5Nm

4X M3#z #mfhgExR 0. SNm

=
©
L

—
=

—

17.9

36
1
NF ‘ i ‘

|

[

|

[

|

+

|

[

|

[

|

[

B2 S e N R

S 68.5

PANEL CUT OUT FOR INSERTS FOR USING
WITHOUT HOODS/HOUSINGS
NGRS e

20 REVISIONS
P LTR DESCRIPTION DATE DWN APVD
A INITIAL RELEASE 14APR2015 | DL | CW
- 83 .9 -— B | ECR-15-01848] \9FEB2016 | DL | CW
B | ECR-17-002385 20FEB20IT | QY | CW
(S o i C | EcR-21-111798 085EP2021 | WQR | CW
o NOTES:
ﬁ - | . TECHNICAL CHARACTERISTICS:
o INSULATITON MATERTAL: PC
RATED VOLTAGE: 690 V
@3“ “gg Y RATED CURRENT: 80 A
INSULATION RESISTANCE: >=400M()
RATED IMPULSE VOLTAGE: &8 KV
POLLUTION DEGREE: 3
FLAMMABILITY: UL94V-0
MATING CYCLES: 500
WIRE RANGE: POWER: [|.5-16 mm2 (16-5 AWG)
CONTACT FINISH: SILVER PLATED
CONTACT TYPE: SCREW CONTACT
VX2
HASY
| \ gpgms . PC
- FreE: 690 V
. Frwn: 80 A
- @D@ N wgel: >=400M0)
: FrhawE: 8 KV
3 1( ‘ AREER 3
- EmEL . UL94V-0
o - sl 5004
80A 600V 6KV 3 - #EEE: | 5-16 mme (16-5 AWG)
! ews> (€ o MIREME R
: - BUAR . RHESR
| 11.95 -
—
%
THIS DRAWING [S A CONTROLLED DOCUMENT. |OWN [ 4APR20 TS
CH%AV‘D - [ZAPR72015 - TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS CHR ‘ S WANG
OTHERWISE SPECIFIED: | APVD [4APR20 15 | NaME
4X @ 33 il 0 PLC + PR>(<)DUUCT>< ‘SPAEQG
: ) HK4/0-004-F
@E}{::::}; o1 108-137127
3 PLC +- APPLICATION SPEC
iNGPLLECS +- . ‘ ‘ 47 ‘ 37 ‘ 27 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
: ARl - [C=T2100042201000
- - CUSTOMER DRAWING SME P o Y e

1470-19 (3/13)




4

THIS DRAWING 1S UNPUBLISHED.

RELEASED FOR PUBLICATION

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

1470-19 (3/13)

&

o)

I7an\
u&#

M5 SCREW, RECOMMENDED
TIGHTENING TORQUE 2.0Nm

M5#4 ##E$EHED . ONm

4X M3 SCREW,RECOMMENDED
TIGHTENING TORQUE O.5Nm
AX M3B% #EAHEAL 0. S5Nm

ALL DIMENSIONS ARE SAME AS TYPE
EXCEPT THOSE DEFINED
BT EAXA P ZXNR T, LERTRIAA |

TYPE-2:T21000
x A-2:7210004

42201-001
2201-001

STAINLESS STEEL SCREW,NO LOGO
rEme £ 0GO

REVISITONS
P LTR DESCRIPTION DATE DWN APVD
SEE SHEET |
NOTES
SEE SHEET |
N THIS TYPE. B
oE |

HK4/0-004 FEMALE INSERT, TYPE-?
T2100042201-001 HK4/0-004-F STAINLESS STEEL SCREW,NO LOGO 2 E-D
HK4/0-0048% Faa84 £ 0G0 =
B ~ B HK4/0-004 FEMALE INSERT TYPE- I
T2100042201-000 HK4/0-004-F HK4/0-00 485 % A~ |
PART NUMBER PART DESCRIPTION TYPE
B 5 # # * A
THIS DRAWING 1S A CONTROLLED DOCUMENT. DWSAV\D | | 4APR20 TS e oo
CHCKHR\S WAN‘GAAPREO‘S - onnecrivity
PIMENSTONS: OTHERWISE SPECITILD: | APVD [ AAPRZ20 5 |NaAME
mm XU XTANG
0 PLC 4 PRODUCT SPEC HKA/0-004-F
1 PLC +-
3 PLC +- APPLICATION SPEC
iNGPLLECS +- . ‘ ‘47 ‘ 37 ‘ 27 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
i A3 C=T2100042201000
- - CUSTOMER DRAWING SCALE SHEET

2% M C



	Sheet 1
	Views
	new_view_1
	top_2
	bottom_3
	left_5
	new_view_6
	new_view_7


	Sheet 2
	Views
	new_view_15
	bottom_16
	top_17
	left_19
	new_view_20



